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D for W =3, 1.5 TeV < Hyy < 2.0 TeV

101 ;L\ T ‘ T TT ‘ T TT ‘ ITTT ‘ ITTT ‘ ITTT ‘ 1T ‘ 1T ‘ T TT T \JE
= —<¢— Data 7

1 ;.% —— Sherpa3 ]

B =§|—£—+ — Sherpa3-ScaleHT2

- —= . — Sherpaz Ahadic .

107" = == Sherpa2 Pythia E
E = 3

E . 7

C . 7
102 = :I_':E—o— E
B = 3

- I__ —

103 & —— =
- i ——
104 e | =
E\ [ ‘ L1 ‘ L1 ‘ L1 ‘ L1 ‘ | | ‘ L] ‘ || | ‘ | \l\ | [ \E

i\ 1 ‘ T ‘ T ‘ T ‘ T ‘ [ [ ‘ T ‘ [ [ ‘ T 1 \E

1.4 E =
1.3 = —=
1.2 = —
1.1 —
1 o000 oo oo+ # =
09 T L [ =
0. L— L — — —=
0.7 —l: =
g6 ETT e el
05 [ [ [ | | | [ [=E [ | [N L1114
0 01 02 03 04 05 o6 07 o8 09 1

o)



